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CC Algebra 

Unit 8 Review  – Graphing Quadratics

1. What is the equation of the axis of symmetry of y = 2x2 + 12x – 5?

A) x = -4

B) x = -3

C) x = 3

D) x = 4

2. What are the coordinates of the vertex of y = 2x2 + 12x – 5?

A) (-4 , -21)

B) (-3 , -23)

C) (3 , 49)

D) (4 , 75)
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3. Which graph (to the right) has only one zero?

A         B        C        D

4. What is an equation of the axis of symmetry of the parabola whose equation is y = 3x2 – 12x – 13? 

A) x = 4 

B) x = 2 

C) x = 3

D) x = -4 
5. Given the height of a rocket as h = -16t2 + 160t + 384, the class was asked when the rocket hits the ground.  Kim solved to find the zeros t = -2 and t = 6.  Assuming the calculations were correct, what should the answer to teacher’s question be?

A) Both -2 and 6 since the calculations were correct

B) 6 only since it has to be a positive

C) -2 since the sign needs to be changed

D) Neither, since the rocket will not hit the ground

6. Which of the following statements best describes the parabola below? 

A) [image: image3.png]


The axis of symmetry is x = 1. 

B) An x-intercept is (-2, 0). 

C) The maximum is at (-2, 1). 

D) The axis of symmetry is y = 1. 

7. The turning point of the graph of the function y = 2x2 + 4x + 3 is 

A) (1, 1) 

B) (1, -1) 

C) (-1, -1) 

D) (-1, 1) 
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The equation y = x2 + 3x – 18 is graphed on the set of axes below.  Based on this graph, what are the roots of the equation x2 + 3x – 18 = 0? 

A) 3 and -18 

B) 0 and -18 

C) -3 and 6 

D) 3 and -6 
9. Which correctly shows the quadratic in vertex form? y = x2 + 12x – 8 
A) y = (x + 6)2 – 44 
B) y = (x – 3)2 – 26 
C) y = (x – 3)2 + 10 
D) y = (x + 3)2 – 26 
10. What are the coordinates of the turning point for the graph of the parabola whose equation is y = x2 – 4? 

A) (0, -2) 

B) (0, 4) 

C) (0, -4) 

D) (0, 2) 
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The accompanying diagram shows the graphs of a linear equation and a quadratic equation.  How many solutions are there to this system of equations? 

A) 1 

B) 2

C) 3

D) 0

12. What is an equation of the axis of symmetry of the graph of y = x2 + 6x + 7? 

A) x = -3 

B) x = 3 

C) 
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The equation y = -x2 – 2x + 8 is graphed on the axes below.  Based on this graph, what are the zeros of the equation –x2 – 2x + 8 = 0? 

A) (4, 0) and (-2, 0) 

B) (9, 0) and (-1, 0) 

C) (8, 0) and (0, 0) 

D) (2, 0) and (-4, 0) 

14. Where is the vertex of y = 4(x + 3)2 + 18   

A) (3,12)

B) (-3,18)

C) (-3,12)

D) (3,-18)
15. Find the equation of the axis of symmetry and the coordinates of the turning point for y = x2 – 2x + 2. 
16. Find the equation of the axis of symmetry and the coordinates of the turning point for y = 2x2 + 3x. 
17. Convert the following equation into vertex form.  Then state the axis of symmetry and the vertex. 



y = x2 + 3x + 1 
18. Solve the following system of equations algebraically: y = x2 – 6x + 6 








          y – x = -4 
19. Graph the following quadratic function y = -2x2 – 2x + 3 
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20. Solve the following system of equations graphically.



y = x2 – 6x + 5 



2x + y = 5 


B) State the coordinates of the point(s) in the solution set. 

































































_1458393839.unknown

_1458393861.unknown

